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. Please hand over the ORS to the Invigilator before leaving the Examination Hall. )

(Read the following instructions carefully.)

This question paper contains all objective questions divided into three categories.
Category-l : Comprises of Q.1 to Q.45 carrying one mark each, for which only one option
is correct.

Category-Il : Comprises of Q.46 to Q.55 carrying two marks each, for which only one
option is correct.

Category-Ill : Comprises of Q.56 to Q.60 carrying two marks each, for which one or more
than one options may be correct.

For questions in Category-I or Category-ll, incorrect answers will carry NEGATIVE marks.
For Category-l, 1/3 mark will be deducted for each wrong answer. For Category-Il,
2/3 mark will be deducted for each wrong answer.

Category-Ill questions will not carry any negative mark. Against the number of correct
options indicated, a maximum of two marks will be awarded an pro rata basis. However,
marking of any wrong option will lead to award of zero mark against the question
irrespective of the number of correct options indicated.

Questions must be answered on Objective Response Sheet (ORS) by darkening the
appropriate bubble (marked A, B, C, D) against the question number on the respective
left hand columns,

AlL ORS will be processed by electronic means. Hence, invalidation of Answer Sheet due
to folding or putting stray marks on it or any damage to the Answer Sheet as well as
incomplete/incorrect filling of the Answer Sheet will be the sole responsibility of the
candidate.

more than one response will be treated as incorrect answer and negative marks will
be awarded for the same.

Write your roll number, name and question booklet number at the specified locations of
the ORS.

Use only Black/Blue Ball Point Pen to mark the answers by complete filling up of the
respective bubbles. -

Mobile phones, Calculators, Slide Rules, Log Tables and Electronic Watches with
facilities of Calculator, Charts, Graph sheets or any other form of Tables are NOT
allowed in the examination hall. Possession of such devices during the examinations may
lead to cancellation of the paper besides seizing of the same. ,

Mark the answers only in the space provided. Please do not make any stray mark on the
ORS.

Rough work can be done on the question paper itseif. Additional blank pages are given at
the end of the question paper for rough work.

This question paper contains 28 printed pages including pages for rough work. Please
check all pages and report, if there is any discrepancy.
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Category — I

Q.1 to Q.45 carry one mark each, for which only one option is correct. Any Wrong answer

Q.1

Q2

Q.3

Q.4

will lead to deduction of 1/3 mark.

The equation of state of a gas is given by (P + )(V b%) = c T, where P, V, T are

pressure, volume and temperature respectively, and a, b, c are constants. The dimensions
of a and b are respectively

(AWML T?and L*? B)MLT?andL}* (C)ML’T2andL® (D) MLT2 and 132
A capacitor of capacitance Cy is charged to a potential Vj and is connected with another

capacitor of capacitance C as shown. After closing the switch S, the common potential
across the two capacitors becomes V. The capacitance C is given by

S -
éa
Vo =— Co ==C
Co(Vo-V) Co(V—Vp) Co(V+Vy) Col{Vo—-V)
A= B) =5 O— D)=,

The r.m.s. speed of the molecules of a gas at 100°C is v. The temperature at which the
r.m.s. speed will be ¥3v is

(A) 546°C (B) 646°C (C) 746°C (D) 846°C

As shown in the figure below, a charge +2 C is situated at the origin O and another charge
+5 C is on the x-axis at the point A. The later charge from the point A is then brought to a

point B on the y-axis. The work done is (given 41:_150 =9 x 10° m/F)

f

B(0,2) m
(+_2mC) A (2,0)m »
9
(A) 45x10° J (B) 90x10” J (C) Zero (D) -45%10"1
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Q.5

Q.6

Q.7

Q8

A frictionless piston-cylinder based enclosure contains some amount of gas at a pressure
of 400 kPa. Then heat is transferred to the gas at constant pressure in a quasi-static
process. The piston moves up slowly through a height of 10 ¢m. If the piston has a cross-
sectional area of 0.3 m’, the work done by the gas in this process is

(A) 6 kI (B) 12 kJ (C)7.5KJ (D) 24 kI

An electric cell of e.m.f. E is connected across a copper wire of diameter & and length .
The drift velocity of electrons in the wire is v4. If the length of the wire is changed to 2/,
the new drift velocity of electrons in the copper wire will be

(A) va (B) 2vq (C) va/2 (D) vy/4

A NOR gate and a NAND gate are connected as shown in the figure. Two different sets of
inputs are given to this set up. In the first case, the inputs to the gates are 4=0, B=0, C=0.
In the second case, the inputs are 4=1, B=0, C=1. The output D in the first case and
second case respectively are

(A)0and 0 (B) 0 and 1 (C)1and 0 (D) land 1

A bar magnet has a magnetic moment of 200 A.m?. The magnet is suspended in a
magnetic field of 0.30 NA™ m™. The torque required to rotate the magnet from its
equilibrium position through an angle of 30°, will be

(A)30Nm (B)30v3Nm (C)60N m (D) 60vV3Nm
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Q.9 Two soap bubbles of radii » and 2r are connected by a capillary tube-valve arrangement
as shown in the diagram. The valve is now opened. Then which one of the following will

result:
®

Valve

(A) the radii of the bubbles will remain unchanged
(B) the bubbles will have equal radii

(C) the radius of the smaller bubble will increase and that of the bigger bubble will
decrease

(D) the radius of the smaller bubble will decrease and that of the bigger bubble will
increase

Q.10 An ideal mono-atomic- gas of given mass is heated at constant pressure. In this process,

the fraction of supplied heat energy used for the increase of the internal energy of the gas
is

(A) 3/8 (B) 3/5 (C) 3/4 (D) 2/5

Q.11 The velocity of a car travelling on a straight road is 36 kmh™' at an instant of time. Now
travelling with uniform acceleration for 10 s, the velocity becomes exactly double. If the
wheel radius of the car is 25 cm, then which of the following numbers is the closest to the
number of revolutions that the wheel makes during this 10 s?

(A) 84 (B) 95 (C) 126 (D) 135

Q.12 Two glass prisms P, and P, are to be combined together to produce dispersion without
deviation. The angles of the prisms P; and P, are selected as 4° and 3° respectively. If the
refractive index of prism P, is 1.54, then that of P, will be
(A) 1.48 (B) 1.58 (C) 1.62 D) 1.72

Q.13 The ionization energy of the hydrogen atom is 13.6 eV. The potential energy of the

electron in n = 2 state of hydrogen atom is

(A) +3.4eV (B)-3.4eV (C)+6.8 eV (D)-6.8 eV
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Q.14 Water is flowing in streamline motion through a horizontal tube. The pressure at a point
in the tube is p where the velocity of flow is v. At another point, where the pressure is p/2,
the velocity of flow is [density of water = g}

@+ ® -] © [+7  ® -7

Q.15 In the electrical circuit shown in figure, the current through the 4 Q resistor is

N =

20
EPAVAVAVAN

(A) 1A (B) 0.5 A (€)0.25 A .(D)0.1A

Q.16 A wire of initial length L and radius # is stretched by a length /. Another wire of same
material but with initial length 2L and radius 2r is stretched by a length 2. The ratio of
the stored elastic energy per unit volume in the first and second wire is,

(A) 1:4 (B)1:2 (C) 2:1 (D) 1:1

Q.17 A curent of 1 A is flowing along positive x-axis through a straight wire of length 0.5 m

placed in a region of a magnetic field given by B = (2i + 4j) T. The magnitude and the
direction of the force experienced by the wire respectively are

(A) V18 N, along positive z-axis (B) V20 N, along positive x-axis
(C) 2 N, along positive z-axis (D) 4 N, along positive y-axis

Q.18 Two spheres of the same material, but of radii R and 3R are allowed to fall vertically
downwards through a liquid of density c. The ratio of their terminal velocities is

(A) 1:3 (B) 1:6 (€) 1:9 (D) 1:1

Q.19 S, and S; are the two coherent point sources of light located in the xy-plane at points
(0, 0) and (0, 3)) respectively. Here A is the wavelength of light. At which one of the
following points (given as coordinates), the intensity of interference will be maximum?

(A) (32, 0) (B) (4, 0) (C) 514, 0) (D) (2/3, 0)
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Q.20 An alpha particle (4He) has a mass of 4.00300 amu. A proton has a mass of 1.00783 amu
and a neutron has a mass of 1.00867 amu respectively. The binding energy of alpha
particle estimated from these data is the closest to

(A) 27.9 MeV (B) 22.3 MeV (C) 35.0 MeV (D) 20.4 MeV

Q.21 Four small objects each of mass m are fixed at the corners of a rectangular wire-frame of
negligible mass and of sides a and b (@ > b). If the wire frame is now rotated about an axis

passing along the side of length b, then the moment of inertia of the system for this axis of
rotation is

(A) 2ma? (B) 4ma? (C) 2m(a® + b?) (D) 2m(a® — b?)
Q.22 The equivalent resistance between the points a and b of the electrical network shown in
the figure is
/AN
r
J r
a b
r r
r
N AVAVAVAR
(A)6r - (B)4r C)2r M)r

Q.23 The de Broglie wavelength of an electron (mass = 1 x 10~ kg, charge = 1.6 x 107" C)
with a kinetic energy of 200 eV is ( Planck’s constant = 6.6 x 1024 J 5)

(A)9.60x10"m (B)825x10"m (©)625x10"'m  (D)5.00x10"''m

Q.24 An object placed at a distance of 16 cm from a convex lens produces an image of
magnification m (m>1). If the object is moved towards the lens by 8 cm then again an
image of magnification m is obtained. The numerical value of the focal length of the lens
is

(A) 12cm (B) 14cm (C)18 cm (D) 20 ¢cm

Q.25 The number of atoms of a radioactive substance of half-life 7" is N at t = 0. The time
necessary to decay from Ny/2 atoms to No/10 atoms will be

ins

(A)3T (B) Tin 5 ©7in (%) OT—
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Q.26 A travelling acoustic wave of frequency 500 Hz is moving atong the positive x-direction
with a velocity of 300 ms . The phase difference between two points x; and x; 1s 60°.

Then the minimum separation between the two points is
(A) 1 mm (B)lcm (©) 10 em (D)1lm

Q.27 A mass M at rest is broken into two pieces having masses m and (M-m). The two masses
are then separated by a distance r. The gravitational force between them will be the
maximum when the ratio of the masses [m:(M-m)] of the two parts is

(A) 1:1 (B) 1:2 (©)13 (D) 1:4

Q.28 A shell of mass 5M, acted upon by no external force and initiaily at rest, bursts into three
fragments of masses M, 2M and 2M respectively. The first two fragments move in
opposite directions with velocities of magnitudes 2V and V respectively. The third
fragment will

(A) move with a velocity Vina direction perpendicular to the other two

(B) move with a velocity 2V in the direction of velocity of the first fragment
(C) be at rest

(D) move with a velocity V in the direction of velocity of the second fragment

Q.29 A bullet of'mass m travelling with a speed v hits a block of mass M initially at rest and
gets embedded in it. The combined system is free to move and there is no other force
acting on the system. The heat generated in the process will be

mMv?
2(M+m)

Mmv?2

(A) Zero B ©z00m (D)

Q.30 A particle moves along X-axis and its displacement at any time is given by
x(t) =2t _3¢ + 4t in S units. The velocity of the particle when its acceleration is zero, is

(A)2.5ms™ B)3.5ms” (C)4.5 ms™ (D) 8.5 ms™

Q.31 A planet moves around the sun in an elliptical orbit with the sun at one of its foci. The
physical quantity associated with the motion of the planet that remains constant with time is

(A) velocity (B) centripetal force
(C) linear momentum (D) angular momentum

Q.32 The fundamental frequency of a closed pipe is equal to the frequency of the second
harmonic of an open pipe. The ratio of their lengths is

(A) 122 (B) 1:4 (C)1:8 (D) 1:16
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Q.33 A particle of mass M and charge q is released from rest in a region of uniform electric
ﬁ.eld .of magnitude E. After a time t, the distance travelled by the charge is S and the
kinetic energy attained by the particle is T. Then, the ratio T/ S

(A) remains constant with time t

(B) varies linearly with the mass M of the particle

(C) is independent of the charge q

(D) 1s independent of the magnitude of the electric field E

Q.34 An alternating current in a circuit is given by I =20 sin (100mt +0.057) A. The r.m.s value
and the frequency of current respectively are,

(A)I0A & 100Hz ~ (B)10A&S0Hz  (C)10vZ A& 50Hz (D) 10v2A &100Hz

Q.35 The specific heat ¢ of a solid at low temperature shows temperature dependence
according to the relation c= DT’ where D is a constant and T is the temperature in kelvin.
A piece of this solid of mass m kg is taken and its temperature is raised from 20 K to
30 K. The amount of heat required in the process in energy units is

(A) 5x10° Dm (B) (33/4) x10°Dm  (C)(65/4) x10*Dm (D) (5/4)x10* Dm

Q.36 Four identical plates each of area a are separated by a distance d. The connection is
shown below. What is the capacitance between P and Q?

P Q
| }——
(A) 2as/d (B) asy/(2d) (C) aep/d (D) dacy/d

Q.37 The least distance of vision of a longsighted person is 60 cm. By using a spectacle lens,
this distance is reduced to 12 cm. The power of the lens is

(A)+5.0D (B)+(20/3) D (C)—«10/3)D (D)+2.0D

Q.38 A particle is acted upon by a constant power. Then, which of the following physical
quantity remains constant?
(A) speed (B) rate of change of acceleration

(O) kinetic energy (D) rate of change of kinetic energy
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Q.39 A particle of mass M and charge q, initially at rest, is accelerated by a uniform electric
field E through a distance D and is then allowed to approach a fixed static charge Q of the
same sign. The distance of the closest approach of the charge q will then be

(a) -2 B) — €)= D)=

4regD 47egED 2mey D2 47enE

Q.40 In an n-p-n transistor

(A)the emitter has higher degree of doping compared to that of the collector
(B) the collector has higher degree of doping compared to that of the emitter
(C) both the emitter and collector have same degree of doping

(D) the base region is most heavily doped

Q.41 At two different places the angles of dip are respectively 30° and 45°. At these two places
the ratio of horizontal component of earth’s magnetic field is

(A)V3:V2 B) 1:V2 (C)1:2 (D) 1:v3

Q.42 Two vectors are given by A = i + 2j + 2k and B = 3i + 6§ + 2k. Another vector C has
the same magnitude as B but has the samie direction as A. Then which of the following
vectors represents 2

7 3 /A
(A3 (£ 4+ 27 + 2k) (B);(L - 2§ + 2k)
7 : o & 9 ra o *
(©)5(¢—2f +2k) D) 5 (i + 2 + 2k)
Q.43 An equilateral triangle is made by uniform wires AB, BC,CA. A current I enters at A and

leaves from the mid point of BC. If the lengths of each side of the triangle is L, the
magnetic field B at the centroid O of the triangle 1s

A
.D
B l C
A2 B2 () ©2E) (D) Zero
P1 10/28 93
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Q44 A car moving at a velocity of 17 ms™ towards an approaching bus that blows a horn at a
frequency of 640 Hz on a straight track. The frequency of this horn appears to be 680 Hz
to the car driver. If the velocity of sound in air is 340 ms™, then the velocity of the
approaching bus is

(A) 2 ms™ (B) 4 ms™ (C) 8 ms™! (D) 10 ms™

Q.45 A particle is moving with a uniform speed v in a circular path of radius » with the centre

at O. When the particle moves from a point P to Q on the circle such that /POQ = 4, then
the magnitude of the change in velocity is

(A) 2vsin (26) (B) Zero (C) 2vsin (—Z—) (D) 2vcos (g)

Category — 11

Q.46 to Q.55 carry two marks each, for which only one option is correct. Any wrong
answer will lead to deduction of 2/3 mark.

Q.46 Two simple harmonic motions are given by
= a sinwt + a cosot and

= t + — cosmt
X=a singy J§

The ratio of the amplitudes of first and second motion and the phase difference between
them are respectively

3 2 E g 3 x
(A) J; and 1—’; (B)g and .1£2 © i andE (D) J; and .

Q.47 A small mass m attached to one end of a spring with a negligible mass and an
unstretched length L, executes vertical oscillations with angular frequency an. When the
mass is rotated with an angular speed @ by holding the other end of the spring at a fixed
pomt the mass moves uniformly in a circular path in a honzontal plane. Then the
increase in length of the spring during this rotation is

W) g5 ®) oy ©% () 2

Q.48 A cylindrical block floats vertically in a liquid of density p; kept in a container such that
the fraction of volume of the cylinder inside the liquid is x;. Then some amount of another
immiscible liquid of density p; (p; < p1 ) is added to the liquid in the container so that the
cylinder now floats just fully immersed in the liquids with x; fraction of volume of the
cylinder inside the liquid of density p;. The ratio pi/pa will be

Vo B 22 (02 ES

x3+x; X1txz
X P1 11/28
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Q.49 A sphere of radius R has a volume density of charge p=kr, where r is the distance from the
centre of the sphere and £ is constant. The magnitude of the electric field which exists at
the surface of the sphere is given by (g0 = permitlivity of free space)

4TKkR kR?

D)

4gq

- kR
( A) 4mkR* (B) =

Q.50 A particle of mass M and charge q is at rest at the midpoint between two other fixed
similar charges each of magnitude Q placed a distance 2d apart. The system is collinear as
shown in the figure. The particle is now displaced by a small amount x { x << d) along the
line joining the two charges and is left to itself. It will now oscillate about the mean
position with a time period (g9 = permittivity of free space)

le—d »le d
. & @
Q q Q

BMed Med? BMegd? BMey
We[tet @)z FHat )y e )2 22

Q.51 A body is projected from the ground with a velocity ¥ = (31 + 10f) ms™ Thé maximum
height attained and the range of the body respectively are (given g =10 ms™ )

(A)5mand 6 m (B)3mand 10 m (C)6mand 5m (D)3mand5m -

Q.52 The stopping potential for photoelectrons from a metal surface is V, when
monochromatic light of frequency v, is incident on it. The stopping potential becomes V,
when monochromatic light of another frequency is incident on the same metal surface. If
h be the Planck’s constant and e be the charge of an electron, then the frequency of light
in the second case is

Ay =5 (V2 + V) B) vy +5 (V2 + V)
) vy —= (V2= Vy) ' (D) vy + (V2 — V1)

Q.53 A cell of em.f E is connected to a resistance R; for time ¢ and the amount of heat
generated in it is H. If the resistance R, is replaced by another resistance R, and is
connected to the cell for the same time ¢, the amount of heat generated in R; is 4H. Then
the internal resistance of the cell is

2R +R; 2R - Ry JR:-2R;
(A)—— (B) VR:R, m-::'n_,, (C) yR1R; PR (D) \/Rle J—+‘/—
P1 12/28 &
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Q.54 3 moles of a mono-atomic gas (y = 5/3) is mixed with 1 mole of a diatomic gas (y = 7/3).
The value of y for the mixture will be

(A) 9/11 (B) 11/7 (C) 12/7 (D) 15/7
Q.55 A magnetic field B = 2t + 4t? (where ¢ = time) is applied perpendicular to the plane of a

circular wire of radius r and resistance R, If all the units are in SI the electric charge that
flows through the circular wire during t = Ostot = 2s is

(A) == B) 2 © 2 D) 2

- Category — III

Q.56 to Q.60 carry two marks each, for which one or more than one options may be
correct. Marking of correct options will lead to a maximum mark of two on pro rata basis.
There will be no negative marking for these questions. However, any marking of wrong
option will lead to award of zero mark against the respective question — irrespective of the
number of correct options marked.

Q.56 If E and B are the magnitudes of electric and magnetic fields respectively in some region
of space, then the possibilities for which a charged particle may move in that space with a
uniform velocity of magnitude v are

(A) E=vB (B) E£0, B=0 (C) E=0, B£0 (D) E£0, B£0

Q.57 An electron of charge e and mass m is moving in a circular path of radius r with a uniform
angular speed . Then which of the following statements are correct?

(A) The equivalent current flowing in the circular path is proportional to 7.

(B) The magnetic moment due to circular current loop is independent of m.

(C) The magnetic moment due to circular current loop is equal to 2e/m times the angular
momentum of the electron.

(D) The angular momentum of the particle is proportional to the arcal velocity of electron.
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Q.58 A biconvex lens of focal length f and radii of curvature of both the surfaces R is made of a

material of refractive index n;. This lens is placed in a liquid of refractive index n;. Now
this lens will behave like

(A) either as a convex or as a concave lens depending solely on R
(B) a convex lens depending on n; and n;

(C) a concave lens depending on n; and n;

(D) a convex lens of same focal length irrespective of R, n; and n;

Q.59 A block of mass m (= 0.1 kg) is hanging over a frictionless light fixed pulley by an
. inextensible string of negligible mass. The other end of the string is pulled by a constant
force F in the vertically downward direction. The linear momentum of the block increase

by 2 kgms ™ in s after the block starts from rest. Then, (given g = 10 ms %)

(A) The tension in the string is F

(B) The tension in the string is 3N

(C) The work done by the tension on the block is 20 J during this 1s
(D) The work done against the force of gravity is 10J

Q.60 A bar of length / carrying a small mass m at one of its ends rotates with a uniform angular
speed @ in a vertical plane about the mid-point of the bar. During the rotation, at some
instant of time when the bar is horizontal, the mass is detached from the bar but the bar
continues to rotate with same ®. The mass moves vertically up, comes back and reaches
the bar at the same point. At that place, the acceleration due to gravity is g.

. 2
(A) This is possible if the quantity %ﬁ- is an integer

(B) The total time of flight of the mass is proportional to @’

(C) The total distance travelled by the mass in air is proportional to @’

(D) The total distance travelled by the mass in air and its total time of flight are both
independent on its mass

END OF THE ENGLISH QUESTION PAPER

P1 14/28 18]

.
Qcollegedunlas
India’s largest Student Review Platform


Stamp


Category -1

Q.1 T Q.45 AT 0T I 7¥9 Wiy @32 oS Swelfers wots wBoara A | gt

Q.1

Q.2

Q.3

Q.4

SWAT S 1/3 987 I I

43T BIeE SR TR 29 (P+‘%)(V-b2)=c'r WA P, V, T SAGH
514, SIRoA 3 Mol 932 g, b, ¢ $IT | BT T a G2 b GT WA 30T JYFCH
@WML'T @ss L BMLT @z ' ML T @z 1® 0) ML T age L

Comwﬁﬁ%aﬁmmvoﬁ?mmf‘rmwaﬁcwﬁﬁrﬁ
W e foraw BT S egw I w97 TEN 915 S-6 7% swa vy
YR fI6T AteR 3 V | OigeE C @ 0T 35

~
S
R
Vo =— G == (C
Co(Vo—V) vy Co(V-Yo) Co(V+Vp) Co(Vo-V)
(A =— B)—— O —— D) ——

100°GT8 SR SHILTT YA S1B-35f @ I505e (r.ms W) = v @ Swer
TG-3of @R IS Vv 7@ ©f 7@

(A) 546°C (B) 646°C (C) 746°C . (D) 846°C

mmﬁmmﬁucwxﬁﬁwmawml aFfG +5C
ANTEF x-S0FF ST s W3 g A-(IE p-oosg o7 wrfis St g
B ¢ A @t 3o o 3@ (F“9x109m/F)

&
8(0,2) m
. AZOm
(A) 45x10° J (B) 90x10° J (C) 75 (D) - 45%10°J
P1 15/28


Stamp


Q5 «HIRT P To I SIewa Wy 400 kPa St «FfB APY wm S | IR
T S AR I A AR (quasistatic) TafSTS B HARRISS GO SO
Swol s 4t 7| PESAT Bw S 10 em Swet Sto oofe| PRETE dEmRed
CFATE (.3 m? 30 BT I9F Fo Y T

(A)6 kJ B 12Kk (C)7.5Kk] (D)24 k]

Q6 JT @ [ tads RS B S Bl 7R #ileed Wy £ ofomes 3o (g @3t
SRECRTT NS FAT X0 | SIEN WY @G AR @t T vy | 44 S 7y
“ifafes P 2 FAE SIET N AFAT T AR TR

(A) va (B) 2vq (C) val2 (D) va/d

Q7 «af3 NOR Gi5 @32 @f8 NAND vt framaft I= at w11 <8 sy 5o
for et f5g 390 oeq T oW oF@ ohaleE &P 4=0, B=0, C=0 9
et o cibafm 798 4=1, B=0, C=1| #19w 8 f&SW cwraw SN&HB D T3

e S

(A) 0932 0 (B) 0 €32 1 (C) 1938 0 D) 19321

Q8 3 ™S PAET BES TS 200 A-m? | @R PFOEE 030 NA™ m™ TH9 (L Jfercd
YT ZE | HRCET AR AT 30° (RIS (7 D (RrwR) ARG 2W ©f &6

(A)30Nm (B)30¥3Nm (C)60Nm (D) 60v3Nm

P1 16/28 .

.
gcollegedumaé
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m


Stamp


Q9 YT ra 2r AL Hf6 TN g -G (ol T S fuew R
WTWETQH\WWW"{WCWBWZ@HQHW

{ ]

Valve

Q)T Iy SfifSe e

B) FrFeelfersr e ST 3w M@

(C) =15 Frguita 5o s <M 932 I Jagiar TP 7T AT
(D) =I5 Trgafbe TR ZPT AT Wae 9T Frgaita AP I A

QI0 e e sl «z smwigE @l e S AR @Y Sue wE = @B
RIS FRIEFS ST @ SART ANCW STeweal R I & 9T 27,
©1 73

(A) 3/8 (B) 3/5 (C) 3/4 (D) 2/5

QI wre IR semii «WFfe e @I @& Torda HRsw@st T 36 kmh™ | SwgaT
5 W% iR Sifeter 10 s 1 3% faae =71 MIfeT s/ I 25 omi @B
10smm$ﬁ:mu—sﬁavﬁmﬁmwwﬁm@ﬂﬂwﬁa
T IR 77?2

(A) 84 (B) 95 (C) 126 (D) 135

Q12 ﬁfﬂﬁnhepz@qmq‘amsﬁ,m—w-%ﬂﬁwﬂﬁlmem
freon ofemms @B IvTEor 40 @ 3° XA Py 99 SRR AfSoEE 1,54
3, P, 93 Somitaw Ao 31

(A)148 - (B) 1.58 (C) 1.62 (D) 1.72

QI3 QST HMIGT SR IfF 221 13.6 eV | JQSHAR n=2 FHIRT WIFHER
fiferfs 7=

(A)+3.4¢eV B)-34eV {C)+68eV (D)-6.8eV

L0 P1 17/28


Stamp


Q.39

Q.40

Q41

Q.42

Q43

MST @ q oUW RRE o3 sEea R oREm oiR| SO a3
wfoersa E Rl D 7Ag X8 NG F31 261 4R ORAE Cifv 7 @33 e
W3ft fim oA Q W3 fie 4if¥e =o1 | q UG T4F Feers PRIl T O4F

Q
®) 2 B) 1rosp ©) s D)y
S8 n-p-n GARSEBIE (Fra
(A)TaEad (collector) TETATT AP (emitter) (TR @7 Wl T =7

(B) feTaET TEAR MA@ (Gl Qg qIat I W@
(C)fsoTas 8 IR Sord (PR «F Aral FWE 2@
(D)ygfl (base JTHETOCS (oI @7 Nral TS & 28

% for W RAfs @i == W 30° @32 45° | O] 0 W B-I0ES
CFAT Sqpie SALEe Sfe 3@

(A) V3:42 (B) 1:v2 (C)1:2 (D) 1:v3

A=t+2/+2k @32 B=30+6f+2k (36 cohaft mex SR ST 9P
oEAP ¢ @3 W B @a wiad w78 v Sfeqd 4«3 wifefy IR |
frafafie @@= o3 aff € x®7

(A) 3 (i+ 2] + 2k) B) 2 (i - 2f + 2K)
(€)% (- 2j +2k) D) 2 (2 + 27 + 2k)
foafB Jaw R 17 (AB, BC,CA)-9 s WG MRz fapst 954 341 3 |

ofeaar (1) A Ry i o @ «3g BC 7 7Ry ey fasfo 78 | I fagpresm
o5 e o5 L@, ot e faprsw @ew (0) 15Ee o%a B 3A

l

OIS B2 OIS (D) Zero

P1 22/28 o]

.
gcollegedumas
||||| s largest Student Review Platform


Stamp


Q20 wyeet & (*He) ¥ ©F 4.00300 amu | 9D THIGHT ©71.00783 amu €32 9T
8T &9 1.00867 amu | 2" O WIF HIETT FVNH IHd e 1941 ST 70T
©f qlted (@ Witag Aeorst fstae! 3, ©f 29

(A) 27.9 MeV (B) 22.3 MeV . (C) 35.0 MeV (D) 20.4 MeV

Q21 #fsfb m o RFE oEll @SN G Foiy ©rFg ONAT (B4 LSBT FISHT
BRIG @A BH T3 T4 | AASCHAGT ITA@T 5 a 932 b (@ > b) | GIF b
maﬁwwwwmmawﬁwmmlaiqﬁ
TCHA ANATE AWEAT IO Toor ImF 3@

(A) 2ma? (B) 4ma? (C) 2m(a?® + b?) (D) 2m(a? — b?)

Q22 fita oTANAl Wpfod FADSAE A SAFA THid 2 €32 b YT NH5 gows A1y T

L VAVAVAN
r
: r
a— b
; r r
I AVAVAVAN
(A)6r (B)4r C)2r D)r

Q23 200 eV sifoifee «sfB reegemr (w3=1x 10 kg, WA=1.6 x 107° C) W =W
OA% (s TET (AFS HIF=6.6 % 107 5)

(A)9.60x10"'m (B)825x10M"m (C)625x10"'m  (D)5.00x 10" m

Q24 @zl Ses @R (A 16 cm GAG GIT B INE TR m BT (m>1) [wfHe
Afsfm o 31 EhE =R e 8 om I WIRIF @ m e R[REE dfofw
SIGAT AR | 0T TIFRT FHOFF ARIWA (numerical value) 5T

(A)12cm (B) 14 cm (C)18cm (D)20 cm

Q25 T wifiy [RE el ol MY t= 0 W AAWIGT AL No | Ao stz
HeYTT No/2 TIEF Ny/10 IS (T FNA o5, Wl 3&

ins

@A):T (B) Tln 5 © 1in(3) T

18] P1 19/28

Qcollegedunla
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee


Stamp


Q.26

Q.27

Q.28

Q.29

Q.30

Q.31

Q.32

500 [z &% RE @l oegs 300 ms™ W@ 4A19Ie x-S0 JAIGT JA 2R
x1 932 x, o ofbre B SIER W A1 60°1 ©f 2t % &y e o 59w 29

(A) 1 mm (B)lem - (C) 10 em (D)1 m

figr SER 9141 M ©EF O3B ¥ m 8 (M-m) SR 46 T Row a1 2911 9@}
75 TSI N ¥Ag 7 | IS Y7 SR TS [m:(M-m)] FS 20T O T
TEedSae ST 39 ST A?

(A) 1:1 (B) 1:2 (C) 1:3 (D) 1:4

SM ©Ed 9SG (e o (@I IRSE I FEl TAcy A1 G3e ©f AR i W
SET S| leta RewRe 1@ ¥ @it M, 2M 932 2M ©Ed f5af sieet
fos @ o | 230 ot 46 IVEEm 2V ¥de V @l RAfte fe et o
Gor e

(A) V Qs 22w gi57 sifs Sifenry Sifeed I91k9 T
(B) 2V (€0t #W 4SBe fire Ia199 g

(C) B sE e

D) V @t ek Yafta e wae I

m @d 9318 qoeb V @t Wi 2@ RERER At M SEd 93l @ SIS
Fde Q32 ©IF T #RE 3@ o | @ 5fb e WG ywer RKerv we
otd 932 SItE SR (19 A1 o1 famr wam a1 93 sfeafics @ ot
7 oig sAfare 3@,

mv? mv2 mMv?
(A) % (B) - (©) zlfm-m) @ m:m)

9FD I X-OPF IR A0R, €72 TR S ©fF Fa 7o x(t) = 2t 3¢ + 4t
(SL 9FCEF) | ©f 2 I FIT T 75 @ ©4F B @ R

(A)2.5ms™ (B)3.5ms™" (C)4.5ms™ (D) 8.5 ms™

W3fh 2% AT SAqERFIT FFY MO IR 932 T @ TN GG @R
IR | 207, 98 SIRSER T AR @ oe IR ge BT WwE ©of 25

(A) sfesr (B) Sifer@w I&
(C) @y stfstast (D) @It sthstast

6 Ta AT TSGR [ePF 8 GFB (41T FoTd oo AWHET F=A4% S |
1 9fig (e Sigile 2l
(A) 1:2 (B) 1:4 )18 (D) 1:16

P1 20/28 el

:
gcollegeduma@
lllll 's largest Student Review Platform


Stamp


Q.33

Q34

Q.35

Q.36

Q.37

Q.38

M®&d 8 q IHA A8 Wall 3MF @9 7 Sfee ¢wta (W E) es st
AT 0T A FA S Fg Sfeew T W T afoifs osfq o@ 1 oosa,
T/S Q3 FFIS

(A) 3T t7 T wfiafde UeE

(B) 31 B M -9F ANY WIS e 5@
(C) LI It Soig fada dacg 1

(D) Sfeerw@d I B9 957 @3 7t

aSh FEACS RIS oA% 1 = 20 sin (100t +0.057) A 2, AW 5N (@
ST A rm.s T 3 FoA1% o7 AT

(A) 10A 932 100Hz (B) 10A €3¢ 50Hz
(C) 1042 A 93¢ 50Hz (D) 10+/2A €32 100Hz

fy Semam @Er OBt M STefiEE S1ef ¢ , SENIaE B99 c= DT e
SR 67 F@, @A D 9SG #9% @Iz T SiGY AN el % i
“MITYT m kg ©I@ 20 K W@ 30 K S#WIEAE Ay @e @ AW s awes
23, hed 9F oF AfwiT 2

(A) 5%10* Dm (B) (33/4) x10*Dm  (C) (65/4) x10° Dm (D) (5/4)x10° Dm

AR Beaa 1 b1 @26 76 “fTe d 79 e AT 597 | Af6fG oiter cFawet a |
MreBfer foras I6AT SEd ey | S X P €I QT N YEEY I

P 0
. e
(A) 2aeq/d (B) acy/(2d) (C) aey/d (D) 4aso/d

A8 @fts=o (longsighted) s TRET =58 wiag TWoT yag 60 cm | H=WT
IR FACT 9] ToN 5799 ¥ [2cm | ©F WG FHG! 59

(A)+5.0D (B) +(20/3) D (©)H10/3)D (D)+20D

G0 ITENE &g g wiag offe Swe! A@st ST 0% €T T A6 @I
oo TG $3F 3@ 7

(A) Bfs (B) TA09F +R@SAg T9
(C) stfemifE (D) stfsfen «faadema g
P1 21/28

.
gcollegeduma@
11111 s largest Student Review Platform


Stamp


Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Wﬁﬁmmmmﬁwmmlmmﬁ%mﬁp 3
T @ v | T T3 RIS 5% p/2 7 CTAIH S 91y @9 FR(TETT 999

= p)

@) [r7 42 ® [ © 242 @ -2

Neea Sloe IFANS 4 Q QT W P ©foe ANl 25

3Q
OV

8Q

20

(A)1A (B)0.5 A (C)0.25 A (D) 0.1 A

AT » ST TP @ L anfis s RE s s 1 Afme b g
TOIAT 75| eI oL@, OFE MIAT teRl 2r dHEeE IETY @ 2L AT o
fRfE Rt SiER 21 AW s s ST o= | g @ sty cwea 9D ol
#fs was SEeE s e et Sgre @

(A) 1:4 (B) 122 (C) 2:1 (D) 1:1

05 m ORdw Ot g ARAER foos @ ¢ArTE x-oTF IRE 1 A SfER
sl aeE | 9% RRRbE 36 Grsera B = (20 + 4/)T -9 WO 90 R0
AR SEF BT (T I AT TW@ O A 3 i TIFw

(A) VI8 N, ¥7TIIS z-O% IARI (B) V20 N, 491916 x-3P% IIRT
(C) 2 N, 4191 z-O%F IARF (D)4 N, 419 y-31F IHRI

qFE A ToR qB (oeAEs [N TAFW R @32 3R | SO o TGE 90
saE N4 iy fiesa fice -iote (Al 20 | SItd A8 SIS JgAs 2@

(A) 1:3 (B) 1:6 (©) 1:9 (D) 1:1

xy-ord B0 PiwEm @ SR S @33 §; I@w (0, 0) @3 (0, 34)
fe wfes | Rrgfs wite fefs smenes orweeds A, s & fTs
(MRS FAF (RS (7)) SCENTT BOBIAT Slol T 217

(A) (32, 0) (B) (42, 0) (C) (504, 0) (D) (20/3,0)

P1 18/28 0]

:
gcollegedumag
aaaaa ' largest Student Review Platform


Stamp


Q44 17 ms' sifste vemiv W oG snfea fics waft a7 Wb stecg | Imfba s
FoNTE 640 Hz 168 (157 SifGT BIoaT oy (13 °41% 680 Hz 3CeT WA 200% |
I IS ISR Afstad 340 ms™ =W ST LeT IFAMB sifowst za

(A)2 ms™ (B)4 ms™! (C) 8 ms™ (D) 10 ms™

Q45 93 F8e I 3w Bfs v A r IR O @ RFE wsld quIer N gargi «g

FOFE Y P 93e Q 4T Ry S «@3e (ed WE ZPOQ =4 | B gE
P (I Q 18 tfiere $N1fBe sifow@er “fiedma o9 3@

(A) 2vsin (28) (B) Zero (C) 2vsin (g) (D) 2vcos (g)

Category — 11

Q.46 X Q.55 #fSfb oty 7] Taw Wy 3k g Seasferm Wy Wlowia Ahe | e
OO T 2/3 79T 10T T

Q.46 Tfjﬁ e (qierstfog Silleaet TTeFey X =asinmt+acosq)t LE S
%= a sinot + — coswt | # G FASH 5T RRIGT Sffe @se Bitw sifea wees

I TSy 35 T

3qge X R p— 2 q3e Z 3qge ?
(A) \E R 5 (B)?aaxl—’; O 59 5 (D)\Etﬂﬁ'x p
Q47 L A trafRf1E 751 ©iaw 936 feae @7 IFAIE m ol@d IINE T FaET
OER @Y SRR O P 07 @RS FAF W ap | B 7 GadsE
g @ @ SINUIE 9P SHE AT T G o o IR QU
(T 797 | BIRee] Grsed Pde v onlfs ot 3@
w?L

(a) 2L B) 28 ©% (D) 43

3
wi—w? w?-w? w?

Q48 @G “Mfca 4T p; TACYT SHER W GIMB GISFho I8 SeweId SPWT | <%
SR I8 TSR x) AT ©Ate [Rms SR | GINT N WS py TA0GE SN
4G BT (p; < py ) TRTl ToT WMo W e f Ffsrs g waerecm W
ORI AMF QI AU T8I SWOER x; ST py 909 oA@d 1y s
AEFE | ©f 3 py/p @

(A) === (B) 2 O WES

Xy —Xo Xy +32 X1 +x2

1®] P1 23/28

:
gcollegedunlag
aaaaa ' largest Student Review Platform


Stamp


Q.49 R F[HNHT s ofooiRe (GNEFa AYET WNTod 999 p=kr, WA 1 AR (FH
(AF (AT T (P YT @G 4R k = $IF | GOFE  NA@d Sl
ofeerF@d N T (g =7 YN ShoReTel)

r kR 4TKR 2
(a) = B) 3 (©) O

L] 4&q

Q50 q wHARFE M R W36 /SN 2d e IR A 56 B @3} e
YAy (AfsfB smeRaT o = Q) wfiyre fm Siwmw witm fiw enyEyfte
AASIFIA AR WA IRABE x 7F ( x << d) W@ =*S "W 74|
IFT @3 TCeT e wieeifs 74w FAR IW AYRSE 2@ (g0 = [ WA

Sieecemal)
d
L] @ z

Q q Q

P Mgd 2 Mgyd® xam,,a 2Mg |
(A) 2 f 2 (B) 2 f = © 2 |— D)2 |oos
Q51 «sfs I/ W T 7= (3 +10) ms' @ Fowsr &1 21 [a ks
THG! 8 ACHIAN INEFW (g =10 ms™?)

ASmE9R 6m B)3mY¥9R 10m ()6m9YIt 5m M)3m4E9R 5m

Q52 A YeIUW® v, TAET G AN woert xer fWsfc @bt eener g
e =@ V1 93} g7 b o 936 FitEs aRkF e war gwa fJfs
= v, W omE S ost@ SR FoiE 61 (o = ARG SYE, k=

ANET $37)
(A) v — %(Vz +V1) (B) v, + %(Vz +V)
©) v~V - V) D) v+ (V= V1)
Q53 Esiowma go1 (e 36 @Iy T R @Y TS Ia0eT ¢ WRF SRSITT ST WYy

H 1% Geom 701 R, 97 RS @187 AF R, @I & I GF% 5N 1 «F
SRITCT 9, WIIGT U5 4H S Beolm 27 | ©IRieT (IIAT SeaT @MY 57

(A)z—nl;ﬁ (B)\/R1Rz 5L (C),/RlRZ L (D) /1R, %
. P1 24/28 O

:
gcollegedunlag
India’s largest Student Review Platform


Stamp


Q54 3 TSl Q@R[N sivroT (v = 5/3) 93¢ 1 WIS faoimmiq@ st (y = 7/3) GPIAT %o |
e y @3 Wi %@

(A) 9711 (B) 11/7 (€) 12/7 (D) 15/7

Q55 rawpitds @2 R GRFIE woft Joimr AR oEm 7o areiE ot dive
C¥d B = 2t + 42 (T 1 = W) AT FA 2671 £ = 05 (V& ¢ = 25 NTT Wy
IOFR AR T @ SFem 2Rifke 2@ ©f 7 (WS T SI G5 W 4@
)

6ur? 20nr? xre 2
(A5 ® == ©= D)=~
Category — I

Q.56 T Q.60 ST Avy 5} THw WMy ¥R 2w SeAeR «F I Wi e | A
G WA SR TANSE T KT 7] 79 MeW @S AR | T WA o
@A ACITS T8 (R | R @1 gor Ser Rfve e T w99 e 5[ |

Q.56 T e Sfoewa 8 (BHFCHad W JAEFH E 932 B | W A SWRAVPR Sy
@1 SRoRYIT 8% e TSR v o 5eitw AN ©f &

(A) E=vB (B) ££0, B=0 (C) E<0, B0 (D) EX0, 840

Q57 e WP @ m GARFE 930 eela o WEHfIE Fote r AP oA
gefrRmT | ©f zeeT Meex Rfosfers comafer aifds?

(A) JOFE MY SfOARR 2 0 sWIgitfss

(B) JTIE Y ©fGeaINzd S (BIFd TWF m 7 &9 WSaer a7
(C) (518 TP WA 30T NEIPGAR @FOF GIEE 2e/m @Y

(D) LRI (P SR REASGAT THA SR Ao

o] P1 25/28

:
gcollegedunm
India’s largest Student Review Platfory m


Stamp


Q.58 aﬁ@wmwﬁ%fmsé‘wv@?mmﬁ‘m Gl
@WmmﬁﬁsﬁﬁﬁmﬁWﬁﬁiaﬁwﬁwﬁ%W’?ﬂ

Qe (@S0

(A) THIENIE R @& B ea s B9 1 S e 16 AIEAT FAE

(B) n, 93 m; 97 A7 fiwe @05 S84 =0 49 SGAY FAE

(C) ny 998 N 9F Borg ST @ Tawa @y W HIEAT FHE

(D) R, ny €32 np & W TR X A1 e gt e Tl Bes T
B SIEAT W

Q59 TR €k AN o 96 @ I Sz Fim o1 oy s 9o
Aol aFdIE G35 7@ (S m = 0.1 kg) WA 3008 | CSIA SNF A
QW%WmeWﬁmf‘wﬁmmlwﬁﬁawm@m
s SO0e BT FAE FHDA @AT SI@S 1s -9 2 kg ms' ARRISS =W (@79
g=10ms’2)

(A) oA U1 2 F
(B) e B 2&T 3N
(C) Yro1a 51T 63 F37 S 1s-q Fo I =7 20
(D) Sifcfsr I RFTa 3 39% $o I 29 10]

Q60 1T @G [T IR P 9F6 m BEA IS TE I 0 AT FH6©
oY NORYE (F @ T Sewelel (RIEl TR | NG @I 93 o
W@ﬁﬂf@ﬁﬁ,@%m@ﬁ%ﬁmﬁﬁ,ﬁ@mlﬂﬁ o @9s
ot qaTs oMMt | Wl (UCS T 28AR N m GG Swafice Boef @3 ARE

aF% SEEY B Wed O WPl IR SREE I@ & | g 9% G
SfeFdS BIT 30

(A)aiﬂﬁmmmﬂﬁ%mﬁﬁmﬁﬁmwg
(B) 7867 (WG Teoea F1eT o’ 9T SWgifss 7
(C) & e A6 AfSFB 179 o° 97 TS 27

(D)IE TGS Mo Towis (97 IR Geieq I SerEs I/ B &og fFdaier
=

END OF THE BENGALI QUESTION PAPER

P1 26/28 o

:
gcollegedunlas
\\\\\ s largest Student Review Platform


Stamp


Space for Rough Work

P1 27/28

:
Qcollegedumag
India’s largest Student Review Platform


Stamp


Space for Rough Work

P1 28/28

gcollegeduniag



Stamp




